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TDP (Honours) 4th Semester
Exam., 2018

EDUCATION
( Honours )

FOURTH PAPER

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer eight questions, taking two from each Unit

Candidates are required to give their answers in their
own words as far as practicable

UNIT—I

1. Discuss the necessity and the present
condition of pre-primary education in India.
Suggest measures for its improvement.

3+4+3=10

2. Which types of organization are Anganwadis’
and Balwadis’? Discuss the role of
Anganwadis’ and Balwadis’ in the
development of child. 2+4+4=10
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. What are the objectives of ICDS? Mention the
functions of ICDS in India. 5+5=10

UNIT—II

. Discuss the roles of NCERT and SCERT in

the qualitative improvement of secondary

education in India. 5+5=10
. Write notes on the following : 5+5=10

{a) NAAC

(b) NUEPA

. What is meant by liberalization? Define
globalization. = How  does  globalization
influence the education system in India?
Mention two demerits of liberalization in
education. 2+2+4+2=10

UNIT—III

. What is meant by value-oriented education?
Why is such education required in a
developing country like India? Discuss how
value-oriented education can be imparted.
2+5+3=10
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10.

11.

12.
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What are the important causes of student
unrest in educational institution? How can
these problems be solved? 5+5=10

Discuss the nature of inclusive education.
Explain the importance of inclusive education
in modern system of education. 5+5=10

UNIT—IV

What are the causes of ‘population explosion?
Discuss how education can help to solve the
problem. 5+5=10

Why should environmental education be
included in school curriculum? Narrate the
efforts made by the government to promote
environmental education in India. 5+5=10

What is women’s empowerment? State the

necessity of women’s empowerment. Mention

the objectives of natural policy for empower-

ment of women (launched in the year 2001).
2+3+5=10
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